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SiNleyenraseT : (1) Amearsg elaméasesb sflwrg udeurdl o drargr erarugame FflumTég)d
QameTera|b. SFsHLILFeN® GapuimLder sem searsmeantLumeTilLLb
o | anquins Cgfelssal.

(2) Beod g &SHLUY @bulmar LLHCL T USDHELD
93 &CHTHeusNGL LweTl(hsS Ceuamm(hd. UL BISGET auenFelsnd
QuenFled Liwemi(hSSe,Lb.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

U@3) - I/ PART - I
GO : (i) s lamésErs@h el weflése,b. 15x1=15
(ii) Qar@ssiiul(erer wIOHM| el gafler WD gHLmL L alenLamuis
Cambos(hssis GOUILHLer e ulemarb Caigg e (pseb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. SpdeamsEpsda_Gu Curiy srrarors egnubhieus)
(=) Camhsre| euTpsSms (<) 2 uiflar ey
(@) sl (il eurpsens (FF) SllembrHmLd
Competition between species leads to :

(a) Amensalism (b) Extinction

(c) Symbiosis (d) Mutation

2. Q@Qrss dsmeevlmed SjeTaneusds Gonasll Lwel(hissLubhieug)
(1) avCL L Ig 66T (=) sy Hangliimen
(@) QLlrrengsefieor (/F)  ena&CGarmavGuimilesr A
is used to lower blood cholesterol level.

(a) Statins (b) Clot buster

(c) Tetracycline (d) Cyclosporin A

3. Spaumaiaraupmiem HHECETATLIGSESMSI LPOIW 2 ERTEHOWITET aphml 6Tg ?
(1) @r(h&E sm&CsTeTD peuhid@ HMECHTETONS WwImiD HlHLpES
(<) smaydD WLl uledlmbg Lobsdblane 2 (Heaimge
(@) sm&Camerd smmLienUulen GeuhL e 6L lq&0lsmeT(Enge
() epo Qandbaer oHsEsafladmbg GOUALL 2 pliLsear Coremmise
Which one of the following is true to gastrulation ?
(a) Formation of three germ layer embryo from single layer embryo.
(b) Formation of multicellular structure from zygote.

(c) Attachment of blastocyst to the uterine wall.

(d) Formation of specific organs from Primary germ layers.
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Epssranid GHluihsalld abs @NUE CwsdCuraileamads GHuih Qswudng ?

(1) UUU (=) AUG

(@) AUC () UAA
Which of the following Codon codes for methionine ?
(a) UUU (b) AUG

(c) AUC (d) UAA

ZW-ZZ aiend une Bliemrid srewriiu(heg)

(<) oerieUeT (<},) LMmENEIGET

(@) Seger (F) CpsaTL ieneardg)b
ZW-ZZ system of sex determination occurs in :

(a) Reptiles (b) Birds

(c) Fishes (d) All of the above

oeriieUen @ eangdler GLTHSTELD

(=) CuCurGamuid GQLmRIGTOLD
(<) BCarCamuils GLmrhisTeD

(@) yGrrligCrmGsmuis GumhisTeLD
(rr) &CeamGamuis GLphGTOLD

The golden age of reptiles was :

(a) Paleozoic era

(b) Mesozoic era

(c) Proterozoic era

(d) Cenozoic era
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7.

s psons walsmar Cures Carmmweailssana :

(=1) promdsdlsen (<=1) CanrGom 6Ty e

(@) Capmslefllser () evlpCemigdaav
was the first human like being.

(a) Ramapithecus (b) Homo erectus

(c) Hominids (d) Australopithecus

peatfle(mhHg sLbmsE psmb alevnidamiger :
(<) sLLmLgmoev (=) evie Carmlsmney
(@) SjerTlFmoev (FF) willsmoed

Animals that can move from Fresh water to Sea water :

(a) Catadromous (b) Stenothermal

(c) Anadromous (d) Eurythermal

s gl Slreu GeuelCuHnSHNHE ereorm GlLiwi.
(1) < THHCLGL LA (=1,) bl (hSSemenlo

(@) ev@urmmrrés (FF) @evCurdlum

The first ejaculation of the semen is
(a) Orchidectomy (b) Infertility

(c) Spermarche (d) Azoospermia
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10. WermevGomgwisdler Lnssleliuan esCagrCsarafl penLClumib @)L Lb :

11.

12.

(<=1) evriianu (<) @rss Seutug
(@) seedya (F) NwsCamenal (Haer
Exo-erythrocytic schizogony of Plasmodium takes place in :
(a) Stomach (b) RBC

(c) Liver (d) Leucocytes

g ermed anprrGumearmer 6LevGLmavleCpmer &ré@EWL @)L LD :
(=) bss Coed HmeTELped (<) QarGLmell GlFavaeT
(@) yCrmevCGLL_ &rid (r) &0igd Glged

The male sex hormone testosterone is secreted from :

(a) Epididymis (b) Sertoli cells

(c) Prostate gland (d) Leydig cell

CLrGLm, vwenflser Lo, evGLdeofer sl L& Y dweindler oflelhE smrewrid
(1) eumPl @ipliLy (<) Wewa Lweum(
(@) @i wrmb CeleTmemrentn (/) eumPlLmger glewrm_Liu(hgeD

Dodo, Passenger pigeon and Steller’s sea cow have become extinct due to

(a) Habitat Loss (b) Over exploitation

(c) Shifting cultivation (d) Habitat fragmentation

6637
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13. geusumenwL 6 CFTLTenLWg :
(=4) IgA (=) IgE

(@) IgM (rr) IgG
Allergy involves :
(a) IgA (b) IgE

(c) IgM (d) IgG

14. $i 2 ewreyd smflalluder s s DDT Qafley srarliu(heg) :
(<=1) QFed
(<) SLOLUDE (L5ETHMET 2 @IemIDd LIDEn6USET)
(@) sreur Wigeneu 2 udflser
() pawr(
The highest DDT concentration in aquatic food chain shall occur in :
(a) Cell
(b) Seagull (Fish eating birds)
(c) Phytoplankton

(d) Crab

15. urglefwumedle LTe® @earlGLmEsD Banl umibd (peom :
(=) Qenanrse (<) CaWll 2 (HeuTssLd
(&) @enGurT o (HeurssLd (FF)  erarGLmevGUmT 2 (Heum&sLD
The mode of sexual reproduction in bacteria is by :

(a) Conjugation (b) Formation of gametes

(c) Zoospore formation (d) Endospore formation
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GO : eTemauCuend m NamésErsE el wealdsa|b. eleamm oear 24 -&@S

Note :

16.

17.

18.

19.

20.

21.

SL_LMuwns 6len_wel&Esa|b.

WermavGrGLTLdl eTemmed eTemTes ?

What is Plasmotomy ?

6x2=12

Answer any six of the following. Question No. 24 is Compulsory.

avQumAGurtaeidlen wHmID evEuiol GLrCnealfleoy — GCoumLBHEIs.

Differentiate spermiogenesis and spermatogenesis.

Cuwim CrrdlLmearevdl @enpum( eTemmmed eTeoerr ?

What is Mayer-Rokitansky Syndrome ?

LCUTETCFAKGT GTETMTED GTET6T ?

What is Lyonisation ?

RETFTE G|GRTL_BIGET GTRTDTE) GTEITET ?

What are Okazaki fragments ?

2 ulflwg Siey erarmmed crevmesr ?

What is bio-remediation ?
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22. “Ogpgre|l 4gssb” — @asl updl o arss gheug) ererer ?

“Red data book” - What do you know about it ?

23. s 2 amrapl L b — eUeFLMISGSELD.

Define Eutrophication.

24. Slenanbdeno CHTUGES rHrms sHULSF swurmssliuLelldeame. erer ?

Vaccine is not produced against Chickenpox. Why ?

L@&3 - III / PART - III

@MU : eTemauCGuenid ym lamésEns@ eflanwalldseyb. elerm orar 33 -5

sLLmuwrs alleLwefldsa|b. 6x3=18

Note : Answer any six of the following. Question No. 33 is Compulsory.

25. @ereyuifliflenav ereucumm @eriCLm&s Hlevauledmbg Ceumul (Hererg ?

How does juvenile phase differ from reproductive phase ?

26. WpIlHs bgemiedler UL LD euanfhag LTSHHISETS &D&Ha|Lb.

Draw a labeled sketch of a spermatozoan.

27. FHEGSW S wHMID alBHIGLR® Sl — Caumhss)s.

Differentiate tubectomy and vasectomy.




28.

29.

30.

31.

32.

33.

9 6637
Slle mommms Camiumiigen SmULL LGTLSEET 6T(LGIs.

Write the salient features of Mutation theory.

@uwCarm@Cerrellaflen LemiseT wrene ?

What are the functions of immunoglobulin ?

QBTHSHOETHET — UM TILIMISHE|LD.

Define Fermentors.

PCR -éi gpeuleum(m &oHmlaid erggeane (penCGearmigger CoanalliLi(hdlemmen ? PCR -6
penCermig. HMILD Ig.6Tem.er. LimedlnGredler Lbi@ wrg ? PCR &nHmled LiweTU(hSsL-
LW Iq.erem.er. LUTalwCren erhg 2 ulflar epasHellmpg Cuplinhdearmg ?

Mention the number of primers required in each cycle of PCR. Write the role of
primers and DNA Polymerase in PCR. Name the source organism of the DNA
Polymerase used in PCR.

pliy eigd wHmD Goliy 6isb — Caupu®&gis.

Differentiate Natality and Mortality.

Tl eV e GBI D@, germed g wHn e ulfleamser sr&GausnE 2-ga
YiElmg). erem ?

AIDS is not a disease. But it facilitates the attack by other organisms. Why ?
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U@&3) - IV / PART - IV
GO : Semensg clamés@ErsEh ebenweflssea,b. 5x5=25

Note : Answer all the questions.

34. (=) wrgeilmi spoHslulder LLCaim Hlansamer alleTsEs.
S|6V60F)
(<)) LOL(HSSHETENLD GTEIMITE GTET60 ? DL (HSSETED OGS TET &IT6ThISHEDET 6T(LHSG)IS.
(a) Explain the various phases of the menstrual cycle.

OR

(b) What is infertility ? Write its causes.

35. (=) wails wruans S L sder ol Emer 6T(LHFIs.
S|6V60F)

(=) Lrreflefler @medlaser oMb < avdCrallw epuiLmTrLl g &eT <8l wenel
S LILL UTeua)&sner Hphs f(HSHISET(H&SET % GW. Q&FFrHmm_eniy
Blumuiu(hssis.

(a) Write the salient features of Human Genome Project (HGP).

OR

(b) Darwin’s finches and Australian marsupials are suitable examples of adaptive

radiation - Justify the statement.

36. (=) peoplen aurp Copbamerer Ceuemriql UTPEMS (PEPD OTHDBISET WTenal ?
S|6060F)
(=) paoblene OmID @FewTL_md Hlene SLSTUL| §lemige0s@EhsdlanL Guiwimer
Caumur(hsemer eT(Lpg)s.
(a) What are the steps to be adopted to lead healthy life style ?

OR

(b) Write the differences between primary and secondary immune responses.
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37. () ki@ BSOTESSHET HATEOGET HMID SEOSET WTeneu ?
S|6V608)
(=) @eEgn L L LI LUFeled cTeDTe) cTeal ? F6T eUanSSameT allernsEs.
(a) What are the advantages and disadvantages of cloning ?

OR

(b) What is population dispersion ? Explain its types.

38. (=) 2Wlflwu ueeimssFenenio LmgsTiiber Curglelmear 2 S5&56T wWrenel ?
S|6V608)
(=) sPleybiT ssdafiGen Hlavagamer alersEs.
(a) Write the general strategies in conservation.

OR

(b) Explain the process of sewage treatment.
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